Synchro lev	vel 1	Level of Team:		1	
,	Glasgow 2019 - Inclusive Skating International and British	Support			
Competition:	Championships	required	• •		
Team:	Grant and Lucy Baxter	Access for Wheelchair			
	Synchro Group (2 to 4 skaters)				
	The state of the s				
		e 1:1:			
Number of	2	For ability			
Skaters in team	2	skaters WPI = 0			
(2-16)	Chatan manage		Al-1114 (A)		
Team details	Skater name	WPI %	Ability (Y)		
1	·	0.00%	У	0%	
2	Grant Baxter	95.00%	У	95%	
3					
4		-	1		
5		-	1		
6					
7					
8					
9					
10					
11					
12					
13					
14					
15					
16					
	Average team WPI				
				% Abilty skaters	
		47.50%	100.00%	(50% Max)	50.00%
ic		IJS Base	Technical	Grade of	Mark awarded
ڪا ا	Elements Permitted			Execution	
INCLUSIVE	Lienents remitted				
SKATING		For Official Use Only		For Officia	l Use Only
Level 1					
Circle		1	0.333	2.8	0.932
Straight line		1	0.333	3	0.999
Creative		1	0.333	2.95	0.982
					T
Total Technical E	lements			core for elements	2.913
		Factor	WPI		
	pensation (6 x WPI) / (WIP is average for group)	6	47.50%		2.850
	Skills (Factor x Score)	1		2.700	2.700
Artistic performa	ance & Execution (Factor x Score)	1		2.950	2.950
	T	otal Scor	e for Per	formance	11.41

Synchro lev	vel 1	Level of Team:		1	
,	Glasgow 2019 - Inclusive Skating International and British	Support			
Competition:	Championships	required			
Team:	Kerry McLean and Lauren McLean (Novice Duet)	Notes on required support:			
	Synchro Group (2 to 4 skaters)				
			П	П	I
Number of	2	For ability			
Skaters in team	2	skaters			
(2-16)	la.	WPI = 0			
Team details	Skater name	WPI %	Ability (Y)		
1		34.00%		34%	
2	Kerry McLean	0.00%		0%	
3					
4					
5			1		
6					
7					
8					
9					
10					
11					
12					
13					
14					
15					
16	Augusta tonus WDI				
	Average team WPI				
				% Abilty skaters	
		17.00%	0.00%	(50% Max)	0.00%
is		IJS Base	Technical	Grade of	Mark awarded
	Elements Permitted			Execution	
INCLUSIVE					
SKATING		For Officia	al Use Only	For Officia	l Use Only
Level 1					
Circle		1	0.333	2.4	0.799
circle		1	0.333	2.4	0.799
Straight line		1	0.333	2.45	0.816
otraight line		1	0.333	2.43	0.010
Creative		1	0.333	2.45	0.816
Cicative			0.555	2.73	0.010
Total Technical E	lements		Total judges so	ore for elements	2.431
- Star : Seminear E		Factor	WPI	S. S. S. S. S. C. III.	
Impairment Com	pensation (6 x WPI) / (WIP is average for group)	6	17.00%		1.020
	Skills (Factor x Score)	1	27.0073	2.450	2.450
	ance & Execution (Factor x Score)	1		2.550	2.550
		otal Scor	e for Por		8.45
Total Score for Performance				8.45	

Synchro lev		Level of Team:		1		
	Glasgow 2019 - Inclusive Skating International and British	Support				
	Championships	required	None/Off-Ice/On-ice/Other			
Team:	Stirling Stars	Notes on required support:				
	Synchro Group (2 to 4 skaters)					
Number of		For ability				
Skaters in team	4	skaters				
(2-16)		WPI = 0				
	Skater name	WPI%	Ability (Y)			
	Fayzan Rehman	0.00%	У	0%		
	Sarah Rehman	77.50%	У	77.50%		
3	Sulayman Rehman	0.00%	У	0%		
4	Maya Rehman	0.00%	У	0%		
5						
6						
7						
8						
9						
10						
11						
12						
13						
14						
15						
16						
	Average team W	PI				
				% Abilty skaters		
		19.38%	100.00%	(50% Max)	25.00	
ic		IJS Base	Technical	Grade of	Mark awarde	
كا	Elements Permitted			Execution		
INCLUSIVE	Lienents Fermitteu					
SKATING		For Official Use Only		For Official Use Only		
Level 1						
Circle		1	0.333	2.9	0.966	
Straight line		1	0.333	2.95	0.982	
Creative		1	0.333	3	0.999	
Total Technical Elements				core for elements	2.947	
		Factor	WPI			
Impairment Compensation (6 x WPI) / (WIP is average for group)		6	19.38%		1.163	
	Skills (Factor x Score)	1		2.850	2.850	
Artistic performa	nce & Execution (Factor x Score)	1		3.100	3.100	
		Total Sco	re for Per	formance	10.06	

Synchro lev	vel 2	Level of Team:		2	
•	Glasgow 2019 - Inclusive Skating International and British	Support			
Competition:	Championships	required	None/Off-Ice/On-ice/Other		
Team:		Notes on requi			
	Synchro Group (2 to 4 skaters)				
Number of		For ability			
Skaters in team	2	skaters			
(2-16)		WPI = 0			
Team details	Skater name	WPI %	Ability (Y)		
1	Harriet-Evie Rooms	20.00%		20%	
2	Isobel-Ami Rooms	20.00%		20%	
3					
4					
5					
6					
7					
8					
9					
10					
11					
12					
13					
14					
15					
16					
	Average team WPI				
				% Abilty skaters	
		20.00%	0.00%	(50% Max)	0.00%
• _		IJS Base	Technical	Grade of	Mark awarded
IS.				Execution	
INCLUSIVE	Elements Permitted				
SKATING		For Offici	ial Use Only	For Official Use Only	
Level 1		Tor official osciony		10.0	,
Circle		1.5	0.5	2.5	1.250
Straight line		1.5	0.5	2.6	1.300
Jeruigne mile		1.5	0.5	2.0	1.300
Creative		1.5	0.5	2.75	1.375
	ш			<u> </u>	
Total Technical Elements			Total judges s	core for elements	3.925
		Factor	WPI		
Impairment Com	pensation (6 x WPI) / (WIP is average for group)	10	20.00%		2.000
	Skills (Factor x Score)	1		2.500	2.500
	ance & Execution (Factor x Score)	1		2.850	2.850
-		otal Sco	Score for Performance 1		
Total score for 1 chomitance					11.28

Synchro lev	rel 3	Level of Team:		3	
	Glasgow 2019 - Inclusive Skating International and British	Support		•	
Competition:	Championships	required	Nor	ne/Off-Ice/On-ice/0	Other
Team:	Sparkle	Notes on requir	ed support:		
	Synchro Group (2 to 4 skaters)	4			
Number of		For ability			
Skaters in team	4	skaters			
(2-16)	·	WPI = 0			
Team details	Skater name	WPI %	Ability (Y)		
1	Harriet-Evie Rooms	20.00%		20%	
2	Isobel-Ami Rooms	20.00%		20%	
3	Jenny Lee	24.00%		24%	
4	Hannah Lee	17.00%		17%	
5					
6					
7					
8					
9					
10					
11					
12					
13					
14					
15					
16					
	Average team WPI				
				% Abilty skaters	
		20.25%	0.00%	(50% Max)	0.00%
	Synchro Super Team (11 to 16 skaters)	20.2370	0.0075	(Se / sirian)	0.007
•	7	IJS Base	Technical	Grade of	Mark awarded
رحا		.50 2050		Execution	- Marik arvar aca
7	Elements Permitted			ZACOUTION	
SKATING	INCLUSIVE SKATING		For Official Use Only		l Use Only
Level 1		Tor Office	ar ose only	Tor Officia	li Ose Olliy
Circle		3	1	3	3.000
Straight line		3	1	2.95	2.950
Creative		3	1	3	3.000
Total Technical El	laments.		Total judges s	core for elements	8.950
TOTAL TECHNICALE	ienients	Factor	WPI	Core for elements	0.330
Impairment Com	pensation (6 x WPI) / (WIP is average for group)	18	20.25%		3.645
	Skills (Factor x Score)	1.5	20.23/0	3.000	4.500
	nce & Execution (Factor x Score)	1.5		3.300	4.950
A tistic periorilla			o for Den	formance	
		otal Scor	e for Per	iormance	22.05